( X 9.979 Y 8.500 )



( )
H1 m 4.000
B1 B1 m 0.500
ﬁ B2 m 2.500
N1 0.50
N2 0.00
YycC kN/m3 23.0
\V4 kN/m3 19.0
O] < 30.0
C kN/m2 0.0
S < 20.000
S < 30.000
a < 0.000
8] 0.60
Cs kN/m2 0.0
z m
A4 kN/m3 9.8
w < 64 80( 1)
hs m
( Fs 1.0 1.2
lel 0.833 0.833
( ga kN/m2 450 450




« )
H m 30.000
(SN hd 40
Od < 0
Xb m 3.000
B < 0
h m 1.50
h2 m 1.000
hsm m 1.00
Pn t/ms 1.8
o t/md 2.6
c 0.50
g m/s? 9.81
b 0.025
ar 0.5
@k < 30.0
v me 240.0
m 25.0
Yd kN/m? 18.0
@d < 30.0
Sd < 20.000
Sy” < 20.000
qd < 0.000
wWd < 30 70( 1)




A (B1 B2)><H1/2

\Y W AxwycC
Y | Y (2xBl B2)/(Bl B2)>=<H1/3
X | X B2/2 (N1 N2)/2x<Y

Mr V><X

A (m2) vy (kN/m3) vV (kN) X (m) Mr (kN m)

6.000 23.0 138.000 1.639 226.182

X 1.639 (m)




P27 ( )

P61
1/3
HL hs h2
( 35 ) s 1.000 ()
( h2  1.000 m)
X B2 N2xY  2.500 (m)

Pv Px<sin(® o)

Py Px<cos(®d o)

w 64 80 ()



w () P (kN/m) Pv (kN/m) Py (KN/m)
64 24.035 8.220 22.586
65 23.682 8.100 22.254
66 23.282 7.963 21.878
67 22.838 7.811 21.461
68 22.361 7.648 21.012
69 21.852 7.474 20.534
24.500
24.000
23.500
~  23.000 1 |
= [ !
S ; |
22.500 } | 3
22.000 1 i 3
21.500 : : 1
64 65 66 67 68 69
)

w 64 ()




A<y 2.195 > 19.0

41.705  (kN/m)

A (m2)
v (kN/m3)

Wx=<sin(w S&7)
cos(w 7 a D)

41.705>=sin(64 30.0)
cos(64 30.0 0.000 20.000)

24.035 (kN)

(kN/m)
)
)
)

o0 o0Q € =

)

2 P 2> 22.586

Ki v (H1-h2)?  19.00><( 4.000  1.000)2

2 Py 2> 8.220

Kv' 'y (H1-h2)?  19.00><( 4.000  1.000)2

0.264

0.096



F o

4.1 Fsm

Fsm

bu

bd

Fsm
F (kN/m?)
Fsm (kN/m?)
( 332 (13 3 28 )
o

bu H 2 a Xb
En g hsm [{— (1 exp(———————))cos?(Ou Od)}exp(—————
a hsm sinBu hsm
bd a Xb
—
@ e )]
SR fb
(o 1)C 1
1C
cos Oy {tanBy (((jol)c)ltancpk}
cos B¢ {tan®© &tan }
‘ ¢ (e nc 1 e
Pn 1.8 (t/m)
g 9.81 (m/s?»
o 2.6  (t/m®
C 0.50
@« 30.0 (=)
fb 0.025
H 30.000 (m)
hsm 1.00 (m)
O 40 )
Oy 0 )

Xb 3.000 (m)

)



2

2

b

(o 1) 1 (2.6

(o 1)

bu _
(o 1)C 1

cos Oy {tan By

(2.6 1

1)><0.50

> 0.025 0.028

1

tank}

)>< 0.50

cos(40)><{ tan(40) (2.6

0.45

(o 1)

bd —_
(o 1DC 1

cosOq {tan Oud

(2.6

1 )> 0.50

1 ><tan(30.0)}

tank}

1) 0.50

cos( 0)><{ tan( 0) (2.6

-0.26

Fsm

b
Fsm ©En g hsm [{Tu(l exp(

ﬂ(1 exp( 2
a p

0.028

1.8 > 9.81 > 1.00 x<[{

><cos?( 40

-0.26
0.028

(kN/m2)

><(1 exp(

105.1

Vs

Fsm Pn ><Vs?

Fsm
Pn

105.1
1.8

7.64 (n/s)

1 )> 0.50

hsm sin©y

a Xb
hsm

><(1

0 )}><exp(

1 ><tan(30.0)}

H 2
)cos?(Ou  BOd )Fexp( ham

)]

2> 0.028 > 30.000

eXPC "1 00 = sin(40)

2> 0.028 > 3.000
1.00

2> 0.028 > 3.000
1.00

)]

2 a Xb

))

)
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4.2

FH

a® Fsm
0.5 > 105.1

52.6  (KN/m2)

o @ 0.5
F
F hsm ( 1.0m )
52.6 > 1.00
52.6 (kN)
hsm 1.00 (m)

hsm
H1 h2

2

1.00

4.000 1.000 2

3.500 (m)

H1 4.000 ()
h2 1.000 (m)
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5.
5.1
vV (kN) X (m) Mr (kN m) H (kN) Y (m) Mo (kN m)
138.000 1.639 226.182
8.220 2.50 20.550 22.586 1.00 22.586
52.600 3.500 184.100
146.220 246.732 75.186 206.686
5.2
q >Mr =Mo 246.732 206.686
>V 146.220
0.274 (m)
5.3
Fs
e V< Ce=<B2 146.220><0.60 0.0> 2.500
>H 75.186
1.1

8]

Cs (kN/m2)

B2 (m)
1.0

Fs 1.1 1.0 0K
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5.4

5.5

o

Q1

5.6

B2 2.500
— d —_— 0.274
2 2
0.976 (m)
0.976 (m)
2/3
B2 2.500
0.833 (m
3 3 (m
0.976 0.833 ouT
1/3 g1
2%V 2> 146.220
3>=d 3x< 0.274
356 (kN/m2)
ga
356 ga 450 0K
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Ocl N 6e Oca
=)
Ooc2 } B B Ocat

S
Tc - Tca
A

Oca

Ocat

(N/mm)
(N/mm2)
(N/mm2)
(mm)
(mm)
)
(mm2)
(N/mm2)
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6.1

6.2

(m H* (m) B (m)
1.500 1.500 1.250
(N/mm2)
Oca 6.75
Ock = 18 (N/mm2)
Ocat 0.33
1.
Tca 0.49 50
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6.3
6.3.1

A (B1 B)><H"/2
v W AxwycC
Y (2=<B1 B)/(BL B)><H"/3
X X B/2 (N1 N2)/2><Y
Mr V<X
1)
A (m2) vy (kN/m3) V (kN) X (m) Mr (kN m)
1.313 23.0 30.199 0.786 23.736

X 0.786 (m)
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6.3.2

1/3

H' h2
S
3
h2
X B N2x<Y
H™ (m) B (m) X (m) Y (m)
1.500 | 1.250 1.250|  0.167
P
Py %X(H’ h2)2 <Ky><y
P LX(H’ h2)2 <KH>=<vy

2

1.000 m)



17

6.3.3
(
( 1)
N (kN) X @ | Mr (kN m) S (kN) Y@ | Mo (kN m)
30.199 0.786 23.736
0.228 1.250 0.285 0.627 0.167 0.105
52.600 1.000 52.600
30.427 24.021 53.227 52.705
2Mr >Mo 24.021 52.705
>N 30.427

-0.943 (m)
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6.3.4

Ocl N 6e Oca
L=y
Oc2 } B B Ocat

S
Tc B Tca
A
N (kN) S (kN) M (kN m) B (m) d (m) e (m | A(m2)
1 30.427 53.227 -28.684 1.250 | -0.943 | 1.568 1.250
M >Mr - =Mo
B
e — d
2
A B >< 1.0m
( 1)
Ocl 0.21 (N/mm2) Oca 6.75 (N/mm2) 0K
|oc2| 0.16 (N/mm2) Ocat 0.33 (N/mm2) OK
Tc 0.05 (N/mm2) Tca 0.49 (N/mm2) 0K
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7.
vd \
vd (m?)
v (m?)
7.1
vd
ha

Xb 3.000 (m)

(SN 40 )

B 0 )

h2 1.000 (m)

h 1.50 (m)

ha 2.500 (m)

vd 11.23 (M)

vd
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7.2
H 30.000 m
v 240.0 (m®)
W 25.0 (m)
Y vV W
9.60 (m?»)
v W
(m) (m®) (m)
5 H 10 40.0 14.0
10 H 15 80.0 17.0
15 H 20 100.0 19.0
20 H 25 150.0 21.0
25 H 30 210.0 24.0
30 H 40 240.0 25.0
40 H 50 370.0 29.0
50 H 500.0 32.0
7.3
\Y% vd
vd \Y; OK
hd 2.22 (m)

hd
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7.4

"__..g,

Pv Px<sin( O«

Ph P><cos( &4

wi 30 70 ()

o)

ad )



22

Ph (KN/m)

12.100
12.205
12.290
12.345
12.378
12.392
12.386
12.349
12.296
12.221
12.123

Py (KN/m)

4.404
4.442
4.473
4.493
4.505
4.510
4.508
4.495
4.475
4.448
4.412

P (kN/m)

12.877
12.988
13.079
13.137
13.172
13.187
13.181
13.142
13.085
13.005
12.901

wd (%)

51

52
53
54
55
56
57
58
59
60
61

13.150

13.100

13.050

13.000

(kN)

12.950

12.900

12.850

61

60

59

57

56

55

52

51

Qo)

56 (<)

d
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W
W Ad ><V4 1.662 > 18.0
29.916  (kN/m)
Ad (m?)
Y ( ) (kKN/m®)
P
Wxsin(wa @q)
cos(wd @i g Du)
29.916 >=sin(56 30.0)
cos(56 30.0 0.000 20.000)
13.187  (kN)
W (kN/m)
W )
(OF Q)
(@ (] (O)
S )
2 Pu 2> 12.392
Kadh 0.279
yd hd? 18.0 < 2.222
Pv 2> 4.510
Kadv 0.102
yd hd? 18.0 =< 2.222
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7.5

w

Pv

Py

64

P

Px<sin(d o)

Px<cos(d o)

80 (%)

P27 (
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w () P (kN/m) Pv (kN/m) Py (KN/m)
64 57.727 19.744 54.246
65 56.878 19.453 53.448
66 55.927 19.128 52.554
67 54.850 18.760 51.542
68 53.713 18.371 50.474
69 52.492 17.953 49.326
58.000
57.000
56.000
~  55.000 | i
= | |
\Z/ | | :
54.000 i }
53.000 f : :
52.000 1 1 1
64 65 66 67 68 69
)

w 64 ()
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W A<y A ><yd qd 2.195 = 19.0

41.705  (KN/m)

A ()

A4 (KN/m®)

Ad ()

Y ( ) (kN/m?)

qd

qd  hd><wyd><bd  0.000 <18.0> 0.000

0.000  (KN/m?)

hd (m
vyd (kN/m?)
bd (m)

P

Wx=<sin(w &7)
cos(w 7 a D)

41.705 ><sin(64 30.0)
cos(64 30.0 0.000 20.000)

57.727  (kN)

(kN/m)
)
)
)

0 o0Q € =

)

0.000 > 18.0

0.000
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KH

Kv

2 Py 2><( 54.246 12.392 )
v (H1-h2)? 19.00><( 4.00  1.00)2
2 Py 2><( 19.744 4.510 )
v (H1-h2)? 19.00><( 4.00  1.00)2

0.490

0.178
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Pv (kN/m) Pu (kN/m)
19.744 54.246
4.510 12.392
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vV (kN) X (m) Mr (kN m) H (kN) Y (kN) Mo (kN m)
P1 4.510 2.500 11.275 12.392 3.740 46.346
P2 19.744 2.500 49.360 54246 1.000 54246
24.254 60.635 66.638 100.592
>
hd
Yp1 (HL h2) T3 Xp1 B2 Yp1<N2 (Ym H1
Xp1 H1><N1 B1 (Ye1 H1
H1 h2
Yp2 (HL h2) Xp2 B2  Yp2 ><N2

3
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9.
9.1
V' (kN) X (m) Mr (kN m) H (kN) Y (m) Mo (kN m)
138.000 1.639 226.182
24254 2.50 60.635 66.638 1.51 100.592
162.254 286.817 66.638 100.592
9.2
q >Mr >Mo 286.817 100.592
>V 162.254
1.148 (m)
9.3
Fs
Fs > V> Cg>x<B2 162.254 =< 0.60 0.0>< 2.500
>H 66.638
1.4
@]
Cs (kN/m2)
B2 (m)
1.2

Fs 1.4 1.2 OK
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9.4

9.5

a1

g2

g1

Q2

9.6

B2 2.500
d B — 1.148
2 2
0.102 (m)
0.102 (m)
B2 2.500
0.833 (m
3 3 (m
0.102 0.833 0K
1/3
>V 6><e 162.254
=<1 )
B2 B2 2.500
81 (kN/m2)
>V 6><e 162.254
=<1 )
B2 B2 2.500
50 (kN/m2)
ga
81 ga 450 0K
50 ga 450 0K

2/3

><(1

qr 92

6> 0.102

2.500

6> 0.102

2.500
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10.

( )
Oc Tc
N 6
Ocl } N (1_'__ 76 ) Oca
Oc2 B B Ocat
S
Tc I Tca
A
N ( ) (N/mm)
Oca (N/mm2)
Ocat (N/mm2)
B (mm)
e (mm)
)
A (mm2)

Tca (N/mm2)
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10.1

10.2

(m H* (m) B (m)
1.500 1.500 1.250
(N/mm2)
Oca 6.75
Ock = 18 (N/mm2)
Ocat 0.33
1.50

Tca 0.49




34

10.3
10.3.1

(Bl B)><H"/2

W AxwycC

(2=<B1 B)/(BL B)><H'/3

x| < |\I<| >

B/2 (N1 N2)/2><Y

V<X

1)

A (m2)

ve (kN/m3)

vV (kN)

X (m)

Mr (kN m)

1.313

23.0

30.199

0.786

23.736

10.3.2

Kadh

Kadv

KH

Kv

X

0.279

0.102

0.490

0.178

0.786 (m)
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vV (kN) X (m) Mr (kN m) H (kN) Y (kN) Mo (kN m)
P1 4.524 1.250 5.655 12.375 1.240 15.345
p2 2.151 1.250 2.689 5.884 0.250 1.471
p2- 0.423 1.250 0.529 1.164 0.167 0.194
7.098 8.873 19.423 17.010
< >
1 1
Ply > ><hd?>=<Kadv><y/d P1y N ><hd?>Kadh><y/q
P2v hd><Kadv><(H" h2)>=<vy P24 hd><Kadh><(H* h2)>=<vy

1
P2"y TX(H' h2)2><Ky><y

1
Yp1 Txhd (H* h2)

1
Yp2 ry ><(H" h2)

1
Yp2r 3 ><(H* h2)

1
P2y ? < (H" h2)2x<Ky><y

Xp1 H*">=<N1 Bl (Yr1 H©
Xp1 B Yp1><N2 (Ypr H*®
Xp2 B Yp2 x<N2
Xp2+ B Yp2r<N2
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10.3.3
(
( 1)

N (kN) X @ | Mr (kN m) S (kN) Y@ | Mo (kN m)
30.199 0.786 23.736

7.008 1.250 8.873 19.423 0.876 17.010

37.297 32.609 19.423 17.010

| SMr =Mo 32.609 17.010
>N 37.297

0.418 (m)
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10.3.4

Ocl N 6e Oca
— (11 ) {
Oc2 } B B Ocat

S
Tc B Tca
A
N (kN) S (kN) M (kN m) B (m) d (m) e (m | A(m2)
37.297 19.423 15.599 1.250 0.418 | 0.207 1.250
M >Mr - =Mo
B
e d
2
A B >< 1.0m
( 1)
Ocl 0.06 (N/mm2) Oca 6.75 (N/mm2) 0K
oc2 0.01 (N/mm2) Oca 6.75 (N/mm2) 0K
Tc 0.02 (N/mm2) Tca 0.49 (N/mm2) 0K






